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/!fﬁ_p 'k to indicate how you arrived at your answer. If it is not clear how

you'"got your answer, you may not get full credit for the problem.

(€)) L. The following is a histogram of a sample of the wait times to get tech support at a computer company.
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1. Describe the spread of the distribution (state minimum to the maximum and a region that co lz,ams the
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“4) II. A biologist collecg a sam[fle of 15 giant millipedes (Narceus americanus) and obtains the following for
their length in em: 7.9, 5.2, 6.3, 6.6, 4.6, 7.5, 8.3, 6.1, 5.0, 7.7, 6.4, 5.7, 7.0, 6.8, 6.1
Construct an ordered stem-and-leaf display for this data. @
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(10) IV. The following is a stem-and-leaf display of the ages of buyers of automobiles at a dealership in May
2018 (note that this is Minitab output and includes the ‘depth’ column on the left, use it to help find
positions or ignore it) (Round answers, if necessary, to the nearest tenth.)

Stem-and-leaf of Age N = 20
Leaf Unit = 1.0
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1. compute the mean (Hint: Zx = 896)
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2. find the median
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3. compute the 5% trimmed mean (hint: to make the computations easier make use of the fact that
Zx = 896 for all x is known) -, (’h k v
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4. compute the midrange . b o /(I/
2.
7
midR = (/C
5. find the mode (if thete is onc)
oot 3¢
" gW mode = < €
3 V. An investment group has bought Priceline stock over a period of time, they bought 5004 shares in

November 2001 for $15 per share, 3008 shares in Decembelﬁ006 for $40 per share, and 2006 shares in
May 2009 for $100 per share. Use a weighted mean to compute their mean cost per share of Priceline

stock. (Note that as of February 6, 2020 the stock is selling for around $1950 per share!! Why wasn’t 1
buying in 2001? A 1000 shares bought for $15,000 is now worth almost $2,000,000!)
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